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N—35/A1
ot

(Mathematics)

(Hindi & English Version)
Time : 3 Hours Maximum Marks : 100

for: (i) =f wom e B

(i) weat = =% o7 e ol T 6

(iii) =Tl STEYEE B, W AHiEd (o T |

Note : (i) All questions are compulsory.
(i) Marks for all questions are given against that question.

(i) Draw neatand clean labelled diagram wherever required.
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Find the product of :

-4 .
X+3 ang X+2

X-p

SR VR RS R—, Fierg |

Find the value of x, f

(X=1):x: (x4 1)

3. wEiEm e~ 7 x5-0% el 1 e s o

Find the sum and product of the tﬁf&ta-ﬂf;ﬂ?:ﬁfquaﬁirfaﬁc:ﬂ"quﬁtign

Define the ‘Sphere’.
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(3)

5. ‘v dgds’ % e fafag)

Write down the definition of ‘Cyclic Quadrilateral’. 2

6. Tys & wfigw ¥ o9 =0 99w 2 7 fa9 50 wwemed

What do you mean by circumcircle of a trianlge ? Explain with the

help of figure. 2
] 7. mﬂf}'ﬁ!@ﬁﬁ :
cot 8+ tan B = cosec 0 . sec 6.

Prove that :

cot 8 + tan 8 = cosec O . sec 8. 2
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(4.}

Prove that -

Define Index. Write the types of Index.

10. wom o9y gens F TR A 1
Find the Arithmetic Mean of the first five natural numbers.
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(5)
1. w0 & iy .
B x+5y=2
~X+6 y=1
Solve the equation ;
—-6x+5y=2
S x+6y=9 3

12. tw UH i e s 2 e s A 3 S W a 1/4 B 91 =i =7y

H 6 e R T A 3 W Y w0 W 2/3 B Wt §1 fa= 3w Fiten

A fraction reduces to 1/4 when 2 is subtracted from the numerator
and 3 is added to the denominator, but it reduces to 2/3. if 6 is
added to the numerator and the denominator is multiplied by 3.

Find the fraction. 3
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(8) :

X =Dy @z,

Factorise :

x(f =D+ y(F - X)+z(X =), 3
14. 3= fafa F wvet =ifsm -

Qi'x'w:vi =5,

. ' .
Solve the formula method :

9x+ 1=6 i 3

110 ez =ik 88 e &

Find the width of a circular path which has external and internal

circumferences of 110 metres and 88 metres resp

N-35/A1
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(7)
qgar
(On
TF So o ST 16 79 61§ it 399 1w 39 B 2 94 & 5 smm
THYES T 51750 |
The volume of a cylinderis 16 cm” and radius of its base is 2 cm.
Find its curved surface. 3
16. A ABC =7 713 glifae sizf AB = 5 &t BC = 7 341. sir ZABC = 50°
g | = % = o fefeu |
Construct the circumcircle of the triangle ABC in which AB =5 em.
BC =7 cm and ZABC = 50°. Write the steps of the construction. 3
17. Tag =ifSu % w35 fqw ABC # sin 0 = cos (90° — ).

“Prove that in right angled triangle ABC sin 6 = cos (90° — ).
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R o +C0859°.cosec31°=2 :
sin 10°

18. 7 et 3 g i«

1-sinA " 1+sinA -

Solve the following equation :

1-sinA "1+sinA -




(9)

10. 3xfEaia 2 A M ge@ 700 ©. iR 5 wEA A 3 A=l 1 975 1,100 =

T2 FEA 3 2 Tl T Iod F SIteg |

3 chairs and 2 tables cost Rs. 700 and 5 chairs and 3 tables cost

Rs. 1,100. What is the cost of 2 chairs and 2 tables ? 4

20. Us Tl T J9qT 4851 99 TH ¥ | THE 5E T ST |

The volume of a sphere is 4851 c.c. Find its diameter. 4

21. U= =35 & 1 R 15 Hi= 5 & 3% fR ST =7 3R 8 et = 1 Jared
o oz e fag A fwa I g W e ?
A man goes 15 m due East and then 8 m due North. How far is he

from the starting point ? 4
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(10 )
22. ﬁmﬁ%¢WW?WWW?mmhﬁm o
fag = uﬂl}%%ﬁﬁmﬁﬁﬂgfﬁﬁ'\?{%;

If the bisectors of an angle of a triangle bisects the opposite side,

prove that the triangle is isosceles.
Herar
(On

ABC &= fiw & fomed AB = AC #i D I BC m=i farg 71 fag 7w
f&

AB® -~ AD® = BD.CD.

ABC is a triangle in which AB=ACandDis any pointin BC. Prove
that ;

AB” - AD’ = BD.CD,
23. AB 3% 51 a1 ¢, formm 52 0 3 I T A S W e 5 A ae
AB = 24%3?,??@?{%’%%%%1
AB s chord of a circle, whose centre is O. If the distance of chord

from centre is 5 ¢m and AB = 24 cm, then find its ragius.




(1)

STeTaT

(Or)
?“ﬁt—mwAmBmwﬁ?ﬁamﬁéaﬁﬂqcﬁmAD = TE # =g
2 ez Fifu 5 C, B, D ¥t #

Two circles intersect in A and B and AC, AD are respectively the
diameters of the circles. Prove that C, B, D are collinear. 4

24, ﬁ;mﬁﬁmmﬁ“mﬁ?ﬁw TF 1 5901 U 81 39 S 55

=
o

Prove that there is one and only one circle passing through three

non-collinear points. 4

25.H%X—3—i? gz =ifam fa

2X+3a 2x+3b
2 X= Sa 2x-3b

3ab

I = it prove that -
2x+33+2x+3b_
2x-3a 2x-3p - z
N-35/A1 Turn Over
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(12 )
26. 51 W A 1A 15 T 9 59 =feme) w13 3/10 2, 7 ged 5
Fifsm |

The sum of two natural numbers is 15. If the sum of their reciprocals

is 3/10, find the two numbers. 5

27. =g PAB 39 %1 2¢% {@1 @, 5 90 %1 A iR B W uio=e @8 3 PTus

PA .PB = PT".

If PAB is a secant to a circle intersecting the circle at A and B and

PT is a tangent segment, then ;
PA.PB=PT"
EPE
(On)

fog =irae 7 971 & U =919 F1 309 91999 & 904 56 & UFeI 9 5

Tl U o w2 39 919 5 s7af &0 =1 g 2

Prove that the degree measure of an arc of a circle is twice the

angle subtended by it at any point of the alternate segment of the

circle with respect of the arc. 5

N-35/A1
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(13 )

28. = &fqs THae WA MR & S R ™ 8 1t T Uh 7 H U

S T B | FHE F s fag | e T o ud T e s ow e

30° 3R 45° 3| HAE T 3T TIHES F UF T G5 70 e |

A vertical tower stands on a horizontal plane and is surrounded by
a flag-staff of height 8 metres. At a point on the planeg, the angle
of elevation of the bottom of the flag-staff is 30° and that of the top
of the flag-staff is 45°. Find the height of the tower correct upto

one place of dacimal.
AgaT
(On)
U= 200 WX S9 Tere] wi 9ol 4 HE 7R & I SN YR % daq9T S0
w9 30° 27 45° | AR =1 F9E I Hif9C |
From the top of the cliff 200 m high the angle of depression of the

top and bottom of a tower are observed to be 30° and 45°

respectively. Find the height of the tower. 5
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(14)

29. T [ TS =t 3o HT Ui | fu ge A6 = e smell e aem "o
S T 2| T AT w1 ST 31 i)
From the metal of a cylinder of length /, a cylinder of radius equal

to half the radius of given cylinder is caste. Find the height of the

new cylinder.

(Orn)
U FI, % STHR ] S5Fe O nF HI a2 TS 15 1o it & sy
AT HI0 Hieg |
The area of the base of a cone is 9 $q. melres and its curved

surface is 15 7 sq. metres. Find its voiuine.

N—35/A1
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(15 )

30. F=Afafas 523 9 712y 9 Sife ;

Find the mean of the following data :

N-35/A1

P-53

i
500-520
520-540
540-560
560-580
580-600

600-620

Class Interval

500-520

520-540

540-560

560-580

580-600

600620

14

Frequency

14

9

W

Turn Qver



(16)

(0n
5O H N AT X, Xy, Xy covvceceney X, Tt 7 307 10 797 46 & 77
T % e %14 70 #1 w3 0w am T S

Sum of deviations of a set of n values x;, X, X5, ccocovrecr, X,

measured from 50 is—10 and sum of deviations of the values from
48 is 70. Find the value of n and the mean. 6
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N—35/B1
Mot

(Mathematics)
(Hindi & English Version)
“Time : 3 Hours Maximum Marks © 100
| For: () wel v o ¥

(i) w71 = = s ogE T E—

(iii) =%l erEvas 2, ey AWiea = S |
Note : (i) All questions are compuisory.

(i) Marks for all questions are given against that guesticn.

(i) Draw neatand clean labelled diagram wherever required.
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Define the Sphere.

Sclve the expression :

X?2+X%2_
x+1 x-1

3

If a: b=2/3, find the value of :

a+2p
a-3b°

Define the ‘Quadratic Equation’.

N-35/B1
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= =

( 3)
5 T % watTEE B % wia fafed |
Write down the conditions congruence of circles. 2
8. THYE F sfeagw S o v wuma £ 2 o g wwEd

What do you mean by incircle of a triangle ? Explain with the help

of figure. 2
7. T RIETE
A
cofs E + sin 6 = cosec 6.
sin O
) Prove that :
| .
® U ysing = cosec 9. 2
sind
8. Tag =ifad & .
sin (90° - 0) = /(1 — sin28).
Prove that : E
sin (90° - 8) = /(1 — sin?9).
2
N-35/B1 Turn Over
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9. T YT % goemy

Explain the Price Index Number,

15,13,12, 10 &R 6 7 & E LR Ty

The age of Praveeng, Tina, Paras, Ayush, Neelam, Aditya, Dc.l_ly

and Dev is 36, 30, 34, 15, 13,12, 10and 6 years respectively. Fing
| ]

mean of the ages.

X (y-2) W?F{z--*ﬁf Z (x- ).

Factorise ; )

P-54




12, HHEHT 56 F 199, ¢
3x+2y=11
2x+3y=4
Solve the equations :
83 x+2y=11
2x+38y=4 3

13, fous ABC & ZA = x°, ZB = 3x° 3w £C = y* %1 3fe 3y — 5x= 30 &,

\ InaAABC, ZA = x°, /ZB=3x"and £C = y°. If 3y—5x=30, prove

that the triangle is right angled. 3

| i oy - - 2 3 i . &
14. =it a 3R c @ 3 & =t W= ax — 5x+ ¢ = 0 % il &1 FTAeT 3R
e el 21 10 @, T a R o 3 HifsE |
If aand care such that the quadratic equation ax2 —5x+c¢c=0has

. 10 as the sum of the roots and also as the product of the roots,

find a and c. 3

N-35/B1 Turn Over
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(6)
15. wrfadrs fafy § fag =i fr “

Sin” 6 + cos” 0 = 1

Prove by Geometrical method :
sin“ @+ cos” 6 =1.

(Oon)
tan 6

1+ tan®#

Prove that :

= cos(90° — 0) . $in(90° - 0).

tan 0
1+ tan?0

16. st ABC 1 ToF1 #1f wtaf BC = 5 311, A = 70° 5t A 9 e =73

= cOS(90° - ). sin(90°  0). )

1w = 3.5 A ¥

P-54




(7)

Construct a triangle ABC, in which BC = 5 cm, ZA = 707 and
median through A = 3.5 cm. 3

17. U o 1 A6 16 59 SH1 R a5 2 §6 €, 9 S 9E s 9
F 1T |
; ; 3 : . :
The volume of a cylinder is 16 crn and the radius of its base is

2 cm. Find its curved surface.

SEI4AT

(Or)
S SR T ] TS S SITor [STHh ! el ST ¥t R = T AR
110 Hiex 20 88 Wit &
Find the width of a circular path which has external and internal
circumferences of 110 metres and 88 metres respectively. 3
18. Tog wifse = ¢

b ped 2 2
tan A + cot A + 2 =sec A . cosec A.

N-35/B1 Turn Qver
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Prove that -

tan'zﬁ + :_gﬁ_t?}_\ +2= ;?,écziﬂ;. . Qﬂﬁﬁﬁaﬂ 3
19. 7 W Fy Forf &1 o e ) o 1 1 7
i am three times as n‘l.d--asmy son. Five years later, | shall be two
and a half times as old as my son. How old am | and how old is my

)

20. =1 59 o T F1 A 57 B R wfirede F% § 3l AC 7 AD = 9 % oy
Eifmg s B, c.D Earecd )
Two circles intersect in A and B and AC, AD are respectively the

diameters of the circles. Prove that B, C, D are collinear.

N-35/B1
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{erar

(On)

AB 7@ = =ian &, o9 5% 0 %) 9k == € Sia = o0 5 q6 04

AB = 24 51 71, 91 9% =1 7= 37 =it |

AB is chord of a circle, whose centre is O. If the distance of chord

from centre is 5 cm and AB = 24 ¢m, then find its radius. 4

21. U Y= = 598 28 T A anun =) e 21 I &1 35 g e

TS T H |

A cone has a height 28 cm and the radius of its base is 21 cm. Find

the volume and curved surface. 4

22, 1 WHEY A % THAY HHY1: 30 T SR 20 99 €1 9 "R A F U
S T TS 15 WO A, 6 T TS 1 HE S0 S e 99 i |

N
N-35/B1 Turn Over
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(10 )

The perimeters of two similar triangles are 30 cm and 20 cm
respectively. If one side of the first triangle is 15 cm, da._ter_mir-t_-_e_jfiha-
_g'arrjesp@ndiﬁ'g: side of second triangle. B
28. Tt ABC e =i e & foret 2B =71 1 AD, BC w oy &, 61
Tag =i f
AC® = AB® + BC? - 2 BC.BD.
A ABC is an acute angled triangle in which ZB is an acute angle
and AD is p;ar‘pencﬁcula_r on BC. Prove that :
Yo AB® + BCE —2BC.BD.
37erar
(On)
Fo; o o 2 9 et P e ) 1 o ) e s &

N-35/B1
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(11

Prove that if 3 line divides any two sides of a triangle in the same

ratio, the line must be parallel to the third side.

24. Mg Fifan &g am = Wa‘r‘avﬂw@mﬁmm—
a1

el T

Prove that the length of the two tangents drawn from an external

point to a circle are equal.

FHIT: T B ?I

Frove that if a chord is drawn through the point of contact of g

tangent to a circle, then the angles which thig chord makes with

the given tangent are equal respectively to the angles formed in

the corresponding alternate Segments,
N-35/B1 Turn Over
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(On

B e s S

Prove that the degree measure of an arc of a circle is twice the
angle subtended by it atany point of the alternate segment of the

circle with respect of the arc. 5

N-35/B1




i = 2 = Ao w

27. AlG & FHH 2X + px+4 = 0 F1 TH q0 2 7, T 56 56 97 F159 37

0 1 HIF T A R |

; : 2 :

If one of the roots of the quadratic equation 2x + px+4 =01is 2,

find the other root. Also find the value of p. 5
28. Tl fog 92 T HiAR % 378 =1 3799 F19 60° @1, Mzm fag § 40 T @

(HMR & 3T Afe §1) 227 R ¥ &1 599 107 30° § | T =7 98

ST |

At a point, the angle of elevation of the top of a tower is 60°, on

walking 40 metres away from this point (more distance from the

tower) its elevation is 30°. Find the height of the tower.

e

(On)

S m m w e oy

U 200 T2t 39 Terel i 9 E | TR TR $ v of enan & smaa w

FAY: 30° 991 45° T | AR = S9R 709 Fe0 |

N-35/B1 Turn Qver
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(14)
From the top of a cliff 200 metres high the angles of depression of
top and bottom of a tower are found to be 30° and 45° respectively.

Find the height of the tower.

500-520 14

P-54




(15 )

Find the mean of the following data :

Class Interval Frequency

500-520 14

520-540 9

540-560 o]

560-580 4

580-600 3

600-620 5
AT
(Or)

50 § n9FI Xys Xos Xgy vovenns, X, % ToREEH] =7 A0 —10 997 46 % =3 9151

% formel =1 30 70 ¥ 1 weE 2R 0w A 9 =0

Sum of deviations of a set of nvalues Xys Xy Xgy <eenneey X_mieasured

from 50 is =10 and sum of deviations of the values from 46 is 70.

Find the value of n and the mean.

N—35/81 Turn Over
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(16 )
30. H9 % f5di =9 3 forgat =57 14 T 2, 0.5 T =915 % fofm Tefr 25w
WA E 7
A cube of 11 ¢m edge made of lead is melied and moulded intg
balls of 0.5 ¢m diameter. How many such balls can be made ?
YT
(On)

U 979 e =7 ey 35 ﬂ%rmwﬁﬁnE%ﬁmm-ﬁmﬁr

1waﬁﬁf$ﬁmww“e ,

A circular field has a radius of 35 metres. In how much time will a

long walking at the rate of 5 km/hour completes 10 rounds of the

field 7 0

N-35/B1
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Total No. of Questions : 30]

e
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N—35/C1
T

(Mathematics)
(Hindi & English Version)
| Time ; 3 Hours Maximum Marks : 100
fEvr: (i) | W SAfaE F

(i) i B oiw 3 wegE R T E

(iii) & =y B, wes AHieg tasl =y |

Note : (i) All guestions are compulsory.
(i) Marks for all questions are given against that question.

(i) Draw neatand clean labelled diagram wherever required.
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i 2 3
1. 38 x— 4 3R x— 5 %1 729wt x &, 9 x 1 96 79 Fifew )

Find the value of x, if x is the mean proportional of x — 4 and

xX—5,
2. W@ wifau .
X+2 x-1
s
X+3 x-2
Solve the expression :
X+2 x-1
+ .
X+3 x=2

3. FEiEm3x -7 x5 = 0 % & &1 3mee 3R UEEe 7 Fie )
Find the sum and product of the roots of the quadratic equation
3X -7 x-5=0.
4. ‘gu w1 9y = afewfee wifte
Define the ‘Circumference of Circle’.

N-35/C1

P-55



5. fag w0 -

1+———= ec? 0
cos<
Prove that :
-
|
;e Snf =sec?0 2
cos 0

6. Twdl Bys =1 o797 ©i=H &g T % Y@ =0 Teta |

Write down the steps of construction to construct the incircle of

the triangle. 2

7. ek wdE gEsiE & 8 99 fare |

Write down two uses of Cost of Living Index Number. 2

N—35/C1 Turn Over
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Define the ‘Sphere’. 2

Sin(90°-A).cos(90°-A) _ s,
tanA "

Prove that :

sin(80°-A).cos(90°-A) o . ‘ -
tanA CosTA, 2

10. o, =g, Faer, e, e, aafers, T, Fa iR wer %1 = T 36,
34, 32, 13, 10, 19, 05, 23 3w 26 =¥ &1 i a1y 7= A
Praveena, Paras, Vijay. Neelam, Aditya, Atindra, Roma, Neha and
Prakharis 36, 34,32, 13,10, 19, 05, 23 and 26 years respectively.

Find the mean of the ages. 2

P-55




(5)
11, 3% IR TF ] 9151 0 BT (ST e 7T 37w 9Rfem =1 = #59:
110 ez f¥ 88 et €

Find the width of a circular path which has external and internal

circumferences of 110 metres and 88 meires respectively.
HAIgT
(On)
T Sor F A 16 99 UH § AR S99 sTUR F v 2 99 &, 9 55

3
The volume of a cylinder is 16 cm and radius of its base is 2 cm.

Find the curved surface. 3

12. THHI 55 Hifed ;

Jx+2y=11
2X+3y=4
Solve the equation :
3x+2y=11
2x+3y=4 3
N-35/C1 Turn Over
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(6 )
13. URETE T HIfT
2 2 2
a(b+c)+b (c+a)+c (a+b)+2 abe.
Factorise :
2 2 2
a (b+c)+b (c+a)+c (a+b)+2 abc. 3
14.@%?W3x2—x—1=0’m?ﬁ%@
Solve the equationexz—x—T = 0 by formula method. 3
15. <1 Hemedi 14 25 iR 39 SR 13 ¥ 1 e 9 S

The sum of two numbers is 25 and their difference is 13. Find the

numbers. 3

16. 351 ABC =7 o1=1:9% Efifau @il AB = 4 1., BC = 4 &1, 15 AC = 6 it
3| = % 9 of fafan
Construct the circumcircle of the triangle ABC in which AB = 4 cm,

BC = 4 cm and AC = 6 cm. Write the steps of the construction. 3

N-35/CA
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17. fag =g & -
van’ B—sin B =tan’ 0. sin" 9.
Prove that :
tan2 B — sin2 8= tem2 g. sin‘gi .
yerdr
(On
fag =it fF
cn@ =secO—-tanb
1+sint
Prove that :
cosje =secH—tanb
1+sind '
N—35/C1

P-55

Turn Over



18. ﬁ:’-‘[@fﬁ'ﬂ[ﬁi 2

tanb +sin@ _secO+1
tan0—sin® secO-1"

Prove that :

tan® +sinb - secB+1
tan®—sin® sechb-1

19. AB 3@ %1 a1 %, fomam s O ¥1 9% S @ shan =1 gff 5 &ft qen
AB = 24 I 21, 7 5% =1 541 94 witeg |
AR is chord of a circle, whose centre is O. If the distance of chord
from centre is 5 cm and AB = 24 cm, then find its radius.

(On)

2157 TF THL 1 A @i B T ufesie 940 2 3t AC 941 AD 37 g9 % =
% fag = fw C, B, D 9@ £
Two circles intersect in A and B and AC, AD are respectively the
diameters of the circles. Prove that C, B, D are collinear. 4

N-35/C*1
P-55




(9)

20. U TH fu= foes oiv & 2 7em i st § 3 S wm o 1/4 31 51 & o aiw

9 6 W 3R T W 3 ¥ N %3 WAz 2/3 ¥ Wt &) fr= 3w w0

A fraction reduces to 1/4 when 2 is subtracted from the numerator
and 3 is added to the denominator, but it reduces to 2/3, if 6 is

added to the numerator and the denominator is multiplied by 3.

Find the fraction. 4
21. 7% a T, b =S i ¢ S5 91 S 6 T V@ e 9 ys S
12211+1+1]
V 8la b ¢l
It V is the volume of a cuboid of dimensions a, b, c and S is its
surface area, then prove that :
1214 ;
V. Sla b ¢
N-35/C1 Turn Over
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(10 )
22, Mﬁm%ﬁw%ﬁﬁmmmmmm‘mﬁwﬁaﬁwﬁ
F ST F T o ) farfed e E

Prove that the bisector of an angle of a triangle divides the opposite

side in the ratio of the sides containing the angle.

HAgar

(Or)
ﬁ?@ﬁ'ﬁgﬁ?ﬂﬁﬁ?ﬁgﬁfﬁﬁnﬁﬂmﬁmww ST 21 iR afafi
HI0 SRR F, A A Fryw guey £

Prove that if in two triangles, one pair of corresponding sides is
proportional and the included angles are equal, the two triangles

are similar.

23. 51 59EY fysi ABC =it DEF 2 FABE FHEVT: 36 T Wit 7y 81 =) A
g1aT EF =45 it 21, d BC = emané 5 #ifoe |

Area of two similar triangles ABC and DEF are 36 cm” and 81 cm”

respectively. If EF = 4.5 ¢m, find the length of BC.

N-35/C1
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(1)

24. 1El g9 H1 a1 &) o 8 9 ¥ AR s w A ¥ O T e 5 an

3 41 &, 71 39 =1 w78 wifew)

Length of a chord of a circle is 8 cm at a distance of 3 cm from a

centre of a circle. Find the radius of the circle. 4

25. #fg .

X y z

b+c—a_c+a—b_a+b—c

A ?‘I’[,ﬁmm"]ﬁﬂﬂﬁ:

(b—c)x+(c—a)y+(a-b) z=0.

X y___ . Z

b+c-a c+a-hb atrb-ge

show that :

(b-0c)x+(c-a y+(a-b)z=0. 5
N—35/C1 Turn Over
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(12 )

26. oz =i fF 356 & & 3 & ST A9 5 We) 99 B U wvs §
Prove that the degree measure of an arc of a circle is twice the

angle subtended by it at any point of the alternate segment of the

circle with respect of the arc.
eraT
(Or)
T TS % W w0 R g w5 e 180° 2 3
The sum of either pair of opposite angle of a cyclic quadrilateral is
1807, 5

. - 2 - o
27. Al o ¥R f = el ax +bx+c=0$a§la,m§Tgfﬂm:rm

-

) -Jp_l

If o and B are the roots of the quadratic equation ax + bx+c=0,

a P
find the value of — "i‘g. 5

B

N-35/C1
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28. T =i ot oot % = 9 foree & Smr & s e 3 firg 1
ST =M 60° ¥ | T e F g # g 25 e g, e o i
A person from the top of an electric pole observes that the angle
of depression of a point on the planeis 60°. If the distance between

the foot of the pole and that peint is 25 metres, find the height of

the pole.
.'P et
(Or)
TF 200 =12 35 weret =11 991 & fergt i 2 v 3R AR = s T
FHY 30° SR 45° ¥ | TR = S T i

From the top of the cliff 200 m high the angle of depression of the
' top and bottom of a tower are observed to be 30° and 45°

| respectively. Find the height of the tower. 5

N—35/C1 Turn Over
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29, ﬁmﬁiﬁaaﬁﬁmwmﬁ&m

ERIE: oF _ AT
500-520 14
520-540 9
540-560 5
560-580 4
580-600 3
600620 5

Find the mean of the following data :

Class Interval Frequency
500-520 14
520-540 9
540-560 | 5
560-580 4
580-600 3
600-620 5

N-35/C1
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(15 )

(On)

50 8 nwH X,, Xy Xg, oo, , X, % e =14 —10 391 46 9 7

HHl & famert =130 70 £ A SR 1 WA 6 S

Sum of deviations of a set of n values x,, Xos Xy covveves , X, measured
from 50 is =10 and sum of deviations of the values from 46 is 70.

Find the value of n and the mean., 6

30. UF viw F HHR = 8T 9 1 o Hi ad TS 15 1o Hew 3 sEE
AT A6 FIey |
The area of the base of a cone is 9 x 8q. metres and its curved

surface is 15 n sq. metres. Find its volume.

N—-35/C1 Turn Over
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(16 )

e

(On)

T A 19.8 Trase wfE e % a7 @ e ¢ | 399 9fed w1 e 0.5 7

% | Az i s fomz 8 feds = @ |

A tonga moves at the rate of 19.8 km per hour. If the diameter of
its wheel is 0.5 metre, how many revolutions will it make in one

minute 7 6

N-35/C1
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Note : (i) All questions are compulsory.
(i) Marks for all questions are given against that question.

(i) Draw neatand clean labelled diagram wherever required.
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(2)

1, aepo X ﬁ0=x+1@,ﬁ90mmmﬁ%ﬁ1

FP=—X_ and @=*"" then find PQ.
- —1 x =1

2. 6:10:: x:25¥ x =1 °F 9 FITH |
Find the value of x in the following :
G0 =2 X025,

3. w%ﬂamﬁqaa@mnﬁawwﬁﬁmgaﬂ%mmﬁagﬁmﬁﬁm

T U R EEATE 7

Ina grass lawn a horse is tied with a rope 14 m long. On how much

area can it graze the grass.
4, i (x— 3) = 64 7 == =R

Solve the equation (x — 3)2 = 64.

N-36/A2

P-56




(8)
5. v % S w1 AT S | g % g we e = A fared )

Define the chord of a circle. Name the longest chord of a circle. 2

6. fodl o =1 w197 o ¥ =1 3 vy = fatEd )

Write down the steps of construction to construct the incircle of a

| triangle. 2
7. Tos =ifeu fF .
o
Calll + COs B =secH.
cos B
Prove that :
. 2
sin 4 + C0s B =secH. 5
cos O
N-36/A2 Turn Over
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8. fuz Wﬁ? 3

sin 83° cos 27° + cos 63° sin 27° = 1.

Prove that :

sin 63° cos 27° + cos 63° sin 27° = 1.

9. wERT T % 2 v et
Write the two properties of Arithmetic mean.

! 10. Frferfem = =1 wferm s 24h ©

15, 6, 16, 8, 22, 21, 9, 18, 25

| Find the Median of the following data :

15,6, 16, 8,22, 21, 9, 18, 25 )
N-36/A2
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7x-2y=1
3x+4 y=15
Solve the equations :

7 X~By=1

3x+4y=15 3

| e acd A

3x+y=1

N-36/A2 Turn Over




Find the value of K for which the system :
Kx+2y=5
3x+y=1

has :

(a) a unique solution

(b) no solution.

i -ag(:b +C) + §E(=G_i'+ a) + f’(_;a— + b) + 3abe.
Factorise :

&b+ & +be+ 8+ cas b) + 3abr.

14, T 6x° — 11x—35 = 0 =1 97 fafy & 2o wtfort

Solve the equation 'Ef —11x-35=0by formula method.

N-36/A2
P-56




(7)
15. T& =9 1 HFA 125 59 A2 T, T IR FHU TS 94 hifer |

The volume of a cube is 125 cubic metres. Find its whole

surface.
94T

(On)

o] fregmve = &9%e 1,540 577 9t &1 98 %5 9 50° &1 %10 S=d

STl & | 59 =1 50 I FI9 |

A sector of a circle subtending an angle of 50° at centre has an
area 1,540 sq. cm. Find the radius of the circle. 8

16. s ABC =1 191 Hitad wiel BC = 5 941, ZA = 70° 2R A | &% 5
FTel Aitaet 3.5 949 8 |

Construct a triangle ABC in which BC = 5 cm, ZA = 70° and

median AD through A = 3.5 cm. 3

N—-36/A2 Turn Over
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cos®  cos®
1-sin@G 1+sing

Solve the equation :

cos 0 | cosf
1-sin®  1+sinB

e

(on

2 K7 2
tan"o + cot’d + 2 = sec 6 cosec o,

Prove that :

tan’o + cot' + 2 = sec’o cosec o,




(9)

18. Tag wifen f= -

1-cosA _ sinA
sinA  1+cos A’

Prove that :

1-cos A sinA :
sin A 1+cos A 3

19. &1 oTR! STel HEH 1 I T HH1 F FH F] I0L o W W g U= F =R
T & 9ET € AR ] F ANFS 3 ¢ 6 7 B |
Seven times of a given two digit number is equal to four times the

number obtained by reversing the order of digit and sum of digit

is 3. Find the number. 4

20. 7.7 ¥1 99 €1 1 9 3.5 = =8| = fead] &=k 1 ar = 51 996

%7

N-36/A2 Turn QOver
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( 10 )
What will be the length of the wire of diameter 35 mm that can be
drawn from 7.7 cu.cm gold ? 4

2. T 315 BC W BC % U & iR €1 w5ew A ABC &ft A DBC = 13
&1 7% AC 3R DB fag P W s =3 %1, 71 fog =it o -

AP x PC = BP % PD.

Two right angled triangles ABC and DBC are drawn on the same
base BC and on the same side of BC. If AC and DB intersects at

P, then prove that :
AP x PC = BP x PD. 4
22. ¥4 g7 fafed air fag #ifsd)
State and prove Thales’ Theorem.
HIAr
(On)

w nE i Ak ST 3T 7= € e B T % Aee s a A

g FiT9a f Tecit yon = 993 1 F10 g9 2 &)

N-36/A2
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(1)

In a triangle, if the square of one side is equal to the sum of the
squares of the other two sides, then prove that the angle opposite

to the first side is a right angle. 4
23. Tog =1 T =19 994 % 99@ &V T9q7s 34 &

Prove that the opposite angles of a cyclic quadrilateral are
supplementary.

JAerar

(Or)
5 T 531 a1l U 55 § AB 3R AC =1 s €, el AB = AC = 6 9411
Siren BC #1 &g 31 =iterd |
In a circle of radius 5 cm, AB and AC are two chords such that

AB = AC = 6 cm. Find the length of the chord BC. 4
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zﬁwmwﬁwﬁwmﬁwﬁwmmm%

Pro

ve that the circle drawn On any equal side of an isosceles

triangle as diameter bisect the base.

25, #fg

X % z

—

b+ec—a c+a—b:a+b~ca‘?ﬁmmﬁﬁ:

(b-c)x + (c—a)y+ (a- b)z = 0.

z
4+0= 7 c:a—b ;jb_c.thenprouethaiz

(b—0)x+ (c- ajy+(a-b)z=0.

28. %aﬁﬁﬁ%axﬂ bx + c:U%Hﬁﬁ,?ﬁﬁﬁfﬁ@ﬁ%Hﬁm
Fife .

(-31)0:24-{52

(®) 0:3 - [33.

N-36/A2
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(18 )

If v and B are the roots of the equation ax + bx + ¢ =0, then find

the value of :

(@) o + p°

(b) o + B
HIGT
(Or)

mwmmﬁmmﬁ#aﬁmﬂm 221 |

| Find two consecutive natural numbers whose squares have the

sum 221, 5
27, 100%%%’%%1&@%%%@%%%%%%:
30° # 45° ¥1 FR =7 55 wiRey
From the top of a hill 100 m high the angle of depression of the top
and the bottom of a tower are observed to be 30° and 45°
respectively. Find the height of the tower,
N-36/A2 Turn Over

P-56




(14 )

e

(Or)
At = B2 9 5 225U 9T H1 o T ST | 60° 110 T R | e
wmﬁnﬁﬂwmmaﬁ@miﬁmﬁ@%uﬁﬁgﬁaqﬁm%r
TS ] HE S T F
The upper part of a tree broken by the wind in two parts make an
angle of 60° with the ground, the top of the tree touches the ground

at a distance of 9 metres from the foot of the tree. Find the height
of the tree. S

28. fag wifva fis ofe PAB%%%?@%?@#:A#BWMW
¢ IR PT o= st Yen o), 4 PA.PB = PT"|

If PAB be secant of a circle which intersects the circle at A agnd B
and PT be a tangent segment, then prove that PA.PB = PT". 5

29, w-ﬁwwﬁumaﬁéa‘vﬁaﬁf%mﬁﬁﬂﬁaﬁaﬁwqmzﬁ

B

B @ | 399 | wueT | famar fafag
40% | 10% 20% | 20% 10%

1975 H 74

(T94i 7) 140 | 20 60 50 30

1980 H g&g

(3] 7) 165 | 23 70 80 35 N

1975 T YR I WHT 1980 #1 f7aiie = gu=is 39 =ifery |

N-36/A2
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An enquiry into the budget of the middle class
city in India gave the following information -

Expenses on Food | Fuel Clothing
40% | 10%

Price in 1975

families in 3 certain

N-36/A2 Turn Over
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( 16 )

Find Arithmetic Mean from the following data by short-cut
method :

Class Interval Frequency

0-10 4
10-20 6
20-30 3
30-40 2
40-50 2
50-60 5
60-70 8

30. qa:éa%ﬁﬁﬁmﬁﬁﬁnmmmmmﬁ%ﬁﬁwzﬂtﬁw
How many spheres of 2 cm diameter can be made by melting a

solid cone which is 10 cm high and the diameter of whose base is
20cm ?

rgar

(Or)
?ﬁﬂﬁawmﬁmﬁmmﬁ%mﬂ?ﬁ & | T Y w352 ey
T AT (FE) B Sewe 99 |

A road which is 7 metres wide surrounds a circular park whose
circumference is 352 metres. Find the area of the road.

N-36/A2

P-56
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Note : (i) All questions are compulsory.

| (i) Marks for all questions are given against that question.

(i) Draw neat and clean labelled diagram wherever required.
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1. m#%ﬁwﬁwwﬁaﬁmﬂwm%iwa@mﬂm

T HTH T R )
Inagrass lawn a horse is tied with a rope 14 m long. On how much
area can it graze the grass ?

X1 3x+1
X+2 x2-g°

Find the product of the expression :

X+21 :X’E "8 ‘

3. 9 3R 81 1 Ho 717 =i

Find the mean proportional of 9 ang 81.

Find the discriminant of the .qﬂéﬁfa-ti_c_ equation :

X +5x4 8+=0,

N-36/B2
P-57
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Whét is a cyclic quadrilateral ? Give one speciality of it. 2
6. %ﬁﬁ?ﬁmvﬁﬁjﬁ@%ﬁ%ﬂm%%@m%mr
Write the main steps to draw circumcircle. 2
7. Tog =ifsu s .
(1 —cos 8) (1 + cos 0) (1 + cot” 8) = 1.
J Prove that :
(1—0059)(1+cose)(1+cotga):1. 2
8. fom=ifemfs .
sin (90° — 6) cos 6 + cos (90° — g)sinB=1.

| Prove that :

sin (90° - 0) cos 6 + cos (90°-8) sing = 1. 2

9. wftamR & g o fafn |

Write the two properties of Median. 2

N—-36/B2 Turn Qver
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(3)
5. Haﬂaajﬂﬁﬁﬁﬁﬂn‘aﬁ%’ ? 3THE U fasiva fafen
WhE-ﬂ is a cyclic quadrilateral ? Give one speciality of it. 2
6. Wﬁgﬁmvﬁaﬁtﬁaﬁﬁgmﬁmw%@m
Write the main steps to draw circumcircle. 2
7. Tog wifse i -
. (1 —cos 8) (1 + cos 8) {1+cotge):1.
J Prove that
(1 - cos 6) (1 +cos 6) (1 + cot> 6) = 1. >
8. fog =ifeyfs .
sin (90° — ) cos 8 + cos (90°-8)sing =1,
| Prove that :
| sin (90° - 6) cos 8 + cos (90° — B) sin@=1. 2
9. Hitmm & g o fafay

Write the two properties of Median. 2

N-36/B2 Turn Over
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{4 )

10. =2 8, 10, 5, 15, 13 =R x %1 T me7 10 &, W x =1 7 W i

If the arithmetic mean of 8, 10,5, 15, 13 and xis 10, then find out
the value of x.
1. T 6 x° — 11 x— 3520 5 = o 4 5= #ifo
Solve the equation & .x_?— 11 x— 35 = 0 by formula method.
| 5x-8y=1
=2'x+-5y"=_ 19. .

Solve the equations

5Xf3y=1

2x+5y=19

2.

3



(5)
13. cmaﬁnﬁammmfmfﬁﬁﬁﬁ?ﬂq
cX+8y=¢-3
12x+cy=cC
% oa: @9E g Bl |

Find the value of ¢ for which the system :

cx+3y=c-3
12x+cy=cC
has infinitely many solutions.
14, UHETE Fd HIT ;
2 2 2
a (b+c)+b (c+a+c (a+ b) + 2 abc.

Factorise :

32(b+6}+b2 (c+a)+cz(a+b)+2abc.

N-36/B2

P—57
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(6)
15. 7 & 7w, b et R ¢ Sord A1 T 71 S Ve w9 S

1_3[.1 N 1}
V 8la b ¢

If Vis the volume of a cuboid of dimensions a b, cand Sis its

‘surface area, then prove that :

(On)
= ST A I F, 99 76 F B W 60° F F w , vt
forwan 21 Feft ¥
Find the length of the arc of the circle of radius 21 cm, which
subtends an angle 60° at the centre.

N-36/B2
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(7))
16. f3y= ABC =1 311:9% gifay 5=zl BC = 6 ¥41., #B = 55° 18 £C = 70°.
Construct the incircle of the triangle ABC when BC = 6 cm,

ZB =55 and ZC = 70°. 3

. cosD i cost S =
=9 cosecBb+1 cosecOH-—1 b1 & I

Solve the equation :

cos ~ cos®
cosect+1 cosecl -1

Hgar
(Or)
g Fifew f=
tang+sing secd+1
tang-sing secd-—1°
Prove that :
tang+sing seco+1
tang-sing secop-1- d
N-36/B2 Turn Over
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1-sin6

(seco —tan0)” =

1 -*-I--:Siﬁﬁ-’ .
Prove that :

sz L . 1_'51.”9
secO-tang)® = =N

19, & ey i g

State and prove Thales’' Theorem.

(01

T T 3 7% 0 o S el o A e, @

In a triangle, if the square of one side is equal to the sum of the
‘squares of the other two sides, then prove that the angle opposite
to the first side is a right angle. 4

N-36/B2
P-57
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(9)

20. @%ﬁ?ﬂquﬁﬁzmSﬁIFﬁBEﬁEﬁW%mM?:TEﬂ?ﬁ%aﬁT

21.

22.

39 H 6 WA 3R W H 3 F [0 T WA 2/3 2 =l % 1 T wm wifem

Afraction reduces to 1/4 when 2 is subtracted from the numerator
and 3 is added to denominator, but it reduces to 2/3, if 6 is added

to numerator and denominator is multiplied by 3. Find the fraction. 4

UF S B HE s 462 w1 T ¥ | 36 wmes EF T S

ma@—ﬁmé%|émmmm#m|

A solid cylinder has total surface area of 462 cmE, its curved surface

is one-third of its total surface area. Find the volume of the cylider, 4
Iie s ABC § AB = AC #R 501 BC W %% farg D & 41 v o £ -
AB" -~ AD® = BD.CD

In triangle ABC, AB=AC andDis any point on the side BC. Prove

that :

AB® — AD? = BD.CD, 4

N-36/B2 Turn Over
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23.%%%%$Mmm%mmmeﬁmmﬁmﬁu
%%ﬁf@ﬁ%ﬂﬁﬂmwﬁm@m%
Prove that the angle subtended by an arc of a circle at the centre

is double the angle subtended by it at any point on the g rcumference

of the circle.

SHerar
(Or)

%W%ﬂaﬁﬁmgﬂﬁmﬁﬁmaﬁﬁqﬁ:ﬁﬁaﬁa

4

If two non-parallel sides of a trapezium are equal, prove that it IS

cyclic. 4
24. m:;ﬁrﬁfq%qaﬁaﬁaﬁémwwwm SITe =1 TS w3

Prove that the perpendicular from the centre of a circle to a chord

bisects the chords. 4

N-36/B2

P-57




(11 )
o5. Tz wifse fmafe PﬂsﬁﬁmWﬁ,ﬁ@ﬁAﬁRBmﬁaﬁfﬁm
* a3 PT w= =99 d@ &1, 46
2
PA.PB=PT.
If PAB be a secant of a circle which intersects the circle at A and

B and PT be a tangent segment, then prove that :

PA.PB = PT". 5

6. 7 a, b, ¢, d famarym 3 &, @ fag =i 1+ -

322 +ab+b? B
b2 + bc+c?

a
e

if a, b, ¢, d are in continued proportion, then show that :

a?+ab+b® _

a
b2 +bc+c® € 5

N-36/B2 Turn Over
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Ifaand care the roots of th_a_'--.qua&'ﬂr&ﬁc;-equaﬂﬂﬁ ax - S5x+c=

such that the sum and the Pproduct of its roots is 10, then find the

value of a and ¢,

i
ST 7S e st bt 4 s s o 1 s 7
e 308 = e a, TS 1 T ok e 9 Fifem |

The length of a rectangular plot is 8 m greater than its breadth. If




(13 )

28. 2000 T F ST W UF T F TR IS T TF 7918 9@ § Tl 5 &l fHAn
w1 o TryE fargall & S1aTe FIv %A 45° 3R 30° €1 6 FT =IeE [
FifeTg |
On a river an aeroplane at the height of 2000 m observes the

angles of depression of opposite points on the two banks of river

f to be 45° and 30° respectively. Find the width of the river.
Frerar
(Or)

3 Tiex T UF i T fasre & =l w1 98 9 8 Hiex e wgaal 2 3k
T & I I = B e T 5EA I 60° 7, T @E &) S Fa S|
8 metres long ladder reaches 8 metres below the top of an electric

pole. If the angle of elevation of the top of the pole at the bottom

of the ladder is 60°, find the height of the pole. 5

N—-36/B2 Turn Over
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29, da s Us é}ﬂm@mﬁ“‘&%ﬁ?ﬁﬁr%ﬁwﬁtﬁﬁmmﬁmw

S TE R | 97, T e s #ifen

A solid sphere of radius 3 cm is made by melting a solid copper

cone 8 cm high. Find the radius of the base of the cone.
AT ]
(Or)

T AR e F, femmr e 4 a9 T 2 HHi = A =9y U

EGE I A Y 9 H Twe wared v g ¥ 2

A hemispherical paper-weight diameter 4 cm has an air bubble of

2 cm diameter. Find the volume of the material of the paper-

weight. 6

N-36/B2
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30. YA % TF TR & megm o % ufian @ awe 3 Sefafeg w9 a2

-
Tl g 3O wUST  feeEr  fafaw
40% 10% 20% 20% 10%
1975 5959 (T #) 140 20 60 50 30
1980 5 9@ (T94i H) 165 23 70 80 35

1975 W1 SER 99 A 1980 F1 Fee @ goeis w6 e

An enquiry into the budget of the middle class families in a certain

city in India gave the following information

Expenses on Food Fuel Clothing Rent Miscel-
laneous
40% 10% 20% 20% 10%
Price in 1975 140 20 60 50 30
(in Rs.)
Price in 1985 165 23 70 80 35
(in Rs.)

Find the cost of living index in 1980 as compared with 1975,

N-36/B2 Turn Over
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3erar
(Or)
frefefes areRa de & oy faf g sarm e am i
T AT FREEAr
0-10
1020
20-30
30-40
40-50
50-60
6070 8
Find Arithmetic Mean from the following data by short-cut method -

U N w oo i

Class Interval Frequency
0-10 4
10-20
20-30
30-40
40-50
50-60
60-70

@ OO PO NOwWw oo

N-36/B2
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(i) Draw neatand clean labelled diagram wherever required.
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( 2 )

1. TREE 9E wifed

x°-9 x2 _4
X+2' x+3°

Find the product of the expression :

x? -9 X% -4
X#F2 " 8"

asﬁmzﬂmmmﬁﬁam#ﬁﬁj

Find the mean proportional of 3 and 27.

3. YH=TT T Fife

(x+8) (x—9)=0.

Solve the equation -

(x+8) (x-9) =0. 2

4.mm%ﬁmﬁmﬁﬁamﬁaaﬁhmﬁﬁwgm%amﬁaﬁﬁﬁﬁm
1 W TFEAE ?

N-36/C2
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(3)

In a grass lawn a horse is tied with a rope 14 mlong. On how much

area can it graze the grass. <
5. I "BEw g wH vyl T @y wRenfia FfeE
Define the ‘Secant of the circle’ and ‘Tangent of the circle’. 2
6. e = uitE= vd stas= =7 aftmnd fafes |
Define the circumcentre and incentre of a triangle. &
7. Tz =ifsafs .
2
G?S 8 +8in 8 = cosec 6.
sin 0
Prove that :
2
”95 8 + 8in B8 = cosec 0. 2
sin B
8. Tog =ifea fw .
cos 0 sin 6
* + - 2
Sin(90° — 8)  cos(90° — )
N-36/C2 Turn Over
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(4)

Prove that :

cos B sin 6

== + =2 2
sin(90° - )  cos(90° — )

9. IFMNE Tg-w IR fafere gy =y =3 TRt fefad |
Define crude death rate and specific death rate, 2
10. 2, 4, 8 3% x + 2 =1 Iarc Wy 10 %, W X T HE W 555

If the arithmetic mean of 2,4,6and x+ 2 is 10, then find out the

value of x, 2
1. T 501 wifor
3x+ 2y =11
2X+ 3y = 4.
Solve the equations -
3x+ 2y =11

2x+ 3y =4. 3

N-36/C2
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(5)

12, K=1 91 3w wiferd forgs fag fasm .
2x+Ky=1
3X-5y=7

=
(=) stfgdra ga &t
(F) =78 1 za1 751 3 |

Find the value of K for which the system :

2x+Ky=1
IX=By=T7
has :
(a) aunigue solution
(b) no solution. 3

13. vHETE 79 Fifeu .
ab(a—b)+ bc(b-c)+ ca(c— a).
Factorise :

ab{a—b}+bc{b—c)+ca(c—a), 3

N-36/C2 Turn QOver
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(6)

14. 39T =15 F1 T 15 HiTo o1 9 tet 774, 6 Hew 9 ofi 2 Fro 25

4 @ = 9% |

What will be the length of the longest bamboo which can be put in

a room 8 metres long, 6 metres broad and 2 metres high ?

Fgar

(Or) {
30 FIE e H fore I s fomw e 7 9 E 2

How much water will be contained in a hemispherical bowl! of

diameter 7 cm ? J
15. Hﬁwexg—ﬂx—%:ﬂﬁgﬂﬁﬁiﬁ%ﬁaﬂﬁﬁi
Solve the equation 6x —11x— 35 = 0 by formula method. 3

16. T =519 =gyt ABCD =sd Wl AB = 3 ¥, BC = 6 5, AC = 4 ¥t
3R AD =2 9%t 71|

Construct a cyclic quadrilateral ABCD, where AB = 3 cm,

BC =6cm, AC =4 cmand AD = 2 cm. 3

N-36/C2 |
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sin’ 6 +.cos” 0= 1.

Prove by geometrical method :
sin“6+cos’8=1. |
' (on

tan’g — sin 6 = tan"6 sin°o.

Prove that :

tan’e — sin’6 = tan’p sin’e.

N-36/C2
P-58

Turn Over
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(8)

18. Tz wifog 1+
4 _ coeh
[1-0089 _ cosecd —cotb.
\1+ cos®
Prove that :
1 cosO
fﬂ = cosec 8 — cot 0. 3
V1 + cosB

19. 3 41 5 2 BNl %1 4og 700 5. § 3% 5 FHfHA 9 3 B FHTH 1,100 T T
2 T EAT ST 2 S| F o3 A6 Hiwd |
3 chairs and 2 tables cost Rs. 700 and 5 chairs and 3 tabies cost

Rs. 1,100. What is the cost of 2 chairs and 2 tables ? 4

20. TF Fo T @ 205 99 THT FT SN FT G956 4 0 HAT 7, A 997

TFTE 1A S |

The volume of a cvlinder is 20n cu.cm and the area of its base is

41 sq. cm. Find its curved surface. 4

N-36/C2
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21, 47 o3 fofEs =7 fog s |

State and prove Thales' Theorem.

A4l

(On)

T AT | 9 T IS F 5 S S S @ 9 & AR 5 w0e g,
g w153 % 96 g & 9r 1 00 g9& 8 ¥
In a triangle, if the square of one side is equal to the sum of the

squares of the other two sides, then prove that the angle opposite

to the first side is a right angle. 4
22. 345 ABC =1 4B == £ 3k AD L BC, 7 fag #ifea f= .
AC”= AB” + BC® - 2 BC.BD.
In triangle ARC, £B is an acute angle and AD L BC, prove that :

AC’ = AB® + BC® — 2 BC.BD. 4

N-36/C2 Turn Over
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23, ﬁaﬁ'ﬁ%@%ﬁeﬁﬁmwmwmﬁmaﬁmﬁmﬁﬂﬁwt

=S
Bl

Prove that the perpendicular drawn from the centre of a circle to

a chord bisects the chord.
Heqar
(On)
aﬁwqaﬁ%aﬁmﬁﬂﬁm%a&mﬁfﬁﬁhﬁ?ﬁw reE,
g #ifes £
2rh = h2+ I

If the length of the chord of the circle is 21, distance of minor arc

from chord is £ ang ris the radius of circle, then prove that :
2th=H° # i 4
24. ABCD ts s & ﬁaaﬁﬁ%ﬁ?&;& e, D& & 919 =t 5w =7 9
S < fersoif w7 whede [EES kA

ABCD is a cyclic rectangle, prove that the centre of the circle

through A, B, C, D is the point of intersection of jts diagonals. 4

N-36/C2
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25. 9% :

21, d fog =ifsg s -

2x +3a 2x +3b
- = 2,
2x —-3a 2x-3b

3ab
a+b

then prove that :

2x+33‘2x+3b_2. ) 5
2x-3a 2x-3b

26. afs o, f HE 6X + x-zzt}%%ﬁ,ﬁ%+£wnﬂmaﬁ|

If o, R are the roots of the equation 6X +X—2= 0, find the value

N—36/C2 Turn QOver




U HERT S W A el gt (S F) Sx @R 3x—1 ¥ 4
ECEES ?ﬁﬂtﬁaﬁoaﬁﬁ:‘%s‘?,a‘rﬁgﬁﬁ T 7 I |

The sides (in cm) of a right angled triangle containing the right
angle are 5xand 3x— 1. If the area of the triangle is 60 cmg. then

find the sides of the triangle. 5

27. HEPAB@H%%%@TW%@F@H@A@BW%W%@ PT =
TIT 3 7, | T Wi f .
PA.PB = PT".

If PAB be a secant of a circle which intersects the circle at A and

B and PT be a tangent segment, then prove that :
PA.PB = PT . e
28. T faml oI W uw # ve wowd ¥ AR w1 A | Ft 3 v
R & FFTHT B0 F7: 30° 15 60° ¥ afe et %1 S 100 Her gt

o HHR w= S wi

N—36/C2
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(13 )

A ¢himney and a tower are in the same plane from the top of the
tower, the angles of depression of the top and bottom of the
chimney are 30° and 60°. If the height of the chimney is 100

metres, find the height of the tower.
Hegar
(Or)

wnﬁﬂaﬁmwmmg—aﬂ%mﬁi%mmﬁ%ﬁmﬁqﬁﬂw
R TS F e & I o e 45° SR 60° % ¥ | AT 5 s aen
VS T TEE T HI

A flag is hoisted at the top of a temple. 25 m away from the base

of the temple, the angles of elevation of the top of the temple and

the flag are 45° and 60° respectively. Find the height of the temple

and that of flag. 5
N-36/C2 Turn Over
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29. TH ¥IH F MR & %ﬁtﬁagnaﬁ#‘mamwwnaﬂﬁa%,ﬁem

AFTT T\ Ry |

The area of the base of a conic is 97 $g. metres and its curved

surface is 15n sq. metres. Find its volume.

HALET

(Or)

U TS 19 1 s 3 Tl Sy T =fe 3% T =1 wrEeT wees
I & ST F TR, W F W A et e AT A
it |

A solid sphere is made from a spherical shell by melting it. If the
volume of this sphere is equal to the volume of the hollow part of
the shell, find the ratio of the external and internal radii of the
shell.

N-36/C2
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30. W%@wﬁwmaﬁéqﬁaﬁ%mﬁﬁ%@aaﬂeﬁﬂmgﬁ

T
aaﬂ‘ W P wmumr R fafay
40% 10% 20% 20% 10%
1975 % 709 (T H) 140 20 60 50 30 .

1980 T O (FE ) qgs 23 70 80 35

1975 F1 YR Y Ty 1980 %1 Faile & Faehiss o iy

An enquiry into the budget of the middle Class famifies in a certain

City in India gave the following information -

—_—

Expenses on Food Fuel Clothing Rent Miscel-
laneous

40% 10% 20% 20%  10%

Price in 1975

(in Rs.) 140 20 60 50 30
Price in 1985

(in Rs.) 165 23 70 80 35

Find the cost of living index in 1980 as Compared with 1975,

N-36/C2 Turn Over
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(16 )

year
(Or)
efetE araa J2 4 w7y fafy g gew T1em 96 S
T AT AR AEAT
0-10
10-20
20-30
3040
40-50
50-60
6070 8

Find Arithmetic Mean from the following data by short-cut method :

(62 T ' T A& S s T o T

Class Interval Frequency
0-10 4
10-20
20-30
3040
40-50
50-60
60-70

o th PN N W O
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